 (
To divide the total number of objects, you make equal groups.
There are 20 astronauts. Divide the number of astronauts by 
4.
 To divide by 4, make equal groups of 4.
) (
Reteach
) (
Grade 3
 
•
 
Chapter 7
 
Multiplication and Division
) (
49
) (
20. 
4
)
12
 
) (
19. 
4
)
40
 
) (
18. 
4
)
8
 
) (
17. 
4
)
20
 
) (
16. 
4
)
4
 
) (
15. 
4
)
32
 
) (
14. 
4
)
36
 
) (
13. 
4
)
16
 
) (
12. 
4
)
28
 
) (
11. 
4
)
24
 
) (
10.
 
4 ÷ 4 =
 
) (
36 ÷ 4 =
 
) (
9.
) (
28 ÷ 4 =
 
) (
8.
) (
7.
 
12 ÷ 4 =
 
) (
16 ÷ 4 =
 
) (
6.
) (
8 ÷ 4 =
 
) (
5.
) (
32 ÷ 4 =
 
) (
4.
) (
16 ÷ 4 =
 
) (
3.
) (
24 ÷ 4 =
 
) (
2.
) (
12 ÷ 4 =
 
) (
Use models or related facts to divide.
1.
) (
20 ÷ 4 = 5
) (
Lesson 5
Divide by 4
) (
Name
 
 
Date
 
)
